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1.

+2X

CT Data TPS Indp (Indp )
Field No. Pinnacle Xio Eclipse
Cred 1 1 -2.84+1.0% -0.8+2.3% -0.8+1.3%
2 -3.0+£1.4% -1.1£1.7% -1.1£1.6%
Cred 2 1 -2.44+1.5% -1.9+£2.2% -1.4£1.6%
2 -2.5+£1.7% -1.6£2.6% -1.6£1.7%
Cred 3 1 -2.7+0.6% -0.6£1.5% -0.5+1.5%
2 -3.2+0.6% -1.0£1.6% -0.6+£1.1%
Cred 4 1 -2.5+0.7% -1.3+£3.3% -2.442.1%
2 -3.0+£0.8% -2.0£2.0% -2.4+2.1%
Cred 5 1 -5.0+2.1% -2.443.1% -4,9+2.2%
2 -4.7+1.8% -2.242.1% -4.0+£3.0%
Cred 6 1 -1.7+2.1% 0.6+1.6% -1.1£1.1%
2 -4.7£3.1% 0.1+3.0% -1.8+£3.7%
Cred 7 1 -0.7+2.0% 0.7+1.0% -0.2+1.7%
2 -1.1£1.7% 0.6+1.1% 0.0+£1.8%
Cred 8 1 -2.942.5% -0.6£1.7% -1.2+1.3%
2 -3.1+1.9% -1.442.5% -1.0£1.5%
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Data Plan TPS (
Field No. Pinnacle Xio Eclipse
Cred 1 1 -0.4+1.6% 0.2+1.2% 0.1£1.1%
2 -0.5+1.5% 0.2+0.6% 0.0+1.1%
Cred 2 1 0.4+3.7% 0.6+2.2% -0.2+1.2%
2 0.2+3.9% 0.3+1.5% 0.0+£1.4%
Cred 3 1 -0.2+1.9% -0.3+1.3% 0.0+1.5%
2 -0.1+2.1% -0.5+1.4% 0.0+£1.9%
Cred 4 1 -0.2+2.5% 0.4+2.7% -0.5+0.8%
2 -0.5+2.7% 0.1£2.5% -0.5+0.8%
Cred 5 1 0.1+1.8% 2.4+1.4% 0.2+1.5%
2 0.0+£1.5% 2.4+1.2% 0.1+1.5%
Cred 6 1 -0.3£1.7% 1.5+2.7% -0.5+2.3%
2 -0.6+0.6% 1.3+2.6% -0.1£1.1%
Cred 7 1 -0.6+2.0% 1.4+2.7% 0.2+2.8%
2 -0.7+0.9% 1.8+3.2% -0.1+2.3%
Cred 8 1 -0.8+2.5% -0.2£1.6% -0.1£1.2%
2 -0.7£2.5% -0.1£1.5% 0.0+£1.4%
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Data Plan Indp (
Field No. Pinnacle Xio Eclipse
Cred 1 1 0.2+£1.9% 0.2+1.2% 0.0+£1.2%
2 0.1£1.8% 0.3+1.3% -0.1£1.0%
Cred 2 1 0.3+2.9% -0.2£2.9% 0.2+2.5%
2 -0.2+3.7% -0.3+3.0% 0.3+£2.0%
Cred 3 1 -0.3+2.4% -0.4£1.9% -0.1£1.9%
2 -0.2+2.4% 0.3+4.1% 0.0+£1.9%
Cred 4 1 0.0+£3.0% 0.5+2.2% -0.1+1.7%
2 -0.3+2.8% 0.2+2.5% -0.1£1.6%
Cred 5 1 1.5+2.1% 1.6+1.4% 1.2+1.8%
2 1.3+2.0% 1.8+1.2% 1.1+1.7%
Cred 6 1 0.9+2.0% 1.0+£1.7% 0.3+£1.3%
2 0.5+1.7% 0.9+£1.6% 0.3+1.2%
Cred 7 1 1.4+2.4% 1.8+1.8% 1.0+1.6%
2 1.5+1.2% 2.24+2.1% 0.7+1.6%
Cred 8 1 0.1£2.7% 0.3+1.7% -0.1£1.4%
2 0.3+2.9% 0.3+1.6% -0.1£1.6%

24




2.0 ~

1.0

0.0

-1.0

-2.0

-3.0
(mm)

TPS

’ Indp

Pinnacle

2-2 (a)

TPS

|

Xio

25

Indp ‘ TPS

1

Eclipse

Indp 1



158l = (b)~Waierl*l~

2'0 e O PR e e e A A A e R R R A R AR R AR AR S

. ———
1.0

" Tamg ' =

-2.0 ‘
S O e .....................................................................
(mm) TPS I Indp ‘ TPS ‘ Indp ' TPS Indp
Pinnacle Xio Eclipse
2-3 (b) + + 1

25151 /= (C)~Waierl7<l~

2.0 . T T I I T NN S IR IR IR I~~~

1.0 ]

-1.0

-2.0 -

3.0 A i — ol i i i i i i i g i i — —— i

(mm) TPS Indp § TPS Indp TPS Indp
Pinnacle Xio Eclipse

2-4 (c) + + + 1

26



() EILHERICZME (c)eRIULHEEIC/IISMIE

2

2514 /. (a)~waterms~

7.0

6.0
5.0
4.0
3.0
2.0
1.0
0.0
=10
-2.0

-3.0
(mm)

TPS

Indp

Pinnacle

2-6 (a)

TPS

|

Xio

27

Indp

|

Eclipse

Indp l



E25 M = (b)~wateri@ii %, Lungty ~

T T
6.0

5.0 p=0.03

40 p=0.03 }
3.0
2.0
1.0

S Hems— P ——— frm———————]
(mm) TPS [ i ‘

Pinnacle | Xio Eclipse

2-7 (b) + + 2

%Zﬁﬁ}.‘—.’l (C)~Waier+ Bone@i# %, LungA ~

7 ()
6.0
5.0
4.0

2.0
1.0
0.0
-1.0
-2.0

3.0 Aeeeeeens NI S ST s o A gt ST SIS SITITITN o
- TPS Indp ‘ PS ' ‘

Pinnacle Xio Eclipse

2-8 (c) + + + 2

28



(a)

() R YRR/ ME T e, AEMA

2-9 3

35T /A (a)~waterms~

PO oo oo

(b)Y RIL YR &35 (&

8.0

6.0

l

4.0 ] | |
0.0 : : -

'

B

-2.0

-4.0 ‘

(mm) PS Indp | PS ‘ Indp

Pinnacle Xio

2-10 (a)

29

TPS

Eclipse

Indp

l



35Tl = (b)~water + Lungi&;:B#%, Waterpy ~

4.0

2.0 [

- +T++

AT A .-l e,
- PS 1 Indp | TPS [ Indp | TPS ‘ Indp
Pinnacle | Xio Eclipse
2-11 (b) + + 3
=
B35 = (c)
e e T ————
p<0.01
8.0 p=0.04
6.0
4.0 |
o B -
-2.0 [ p=0.01
(mm) TPS 1 Indp TPS } Indp TPS { Indp
Pinnacle | Xio | Eclipse
2-12 + + + 2

30



Cred1; £

80.5 80.5

80.0 80.0

79.5 79.5

79.0 I 79.0

78.5 i . s . ~~~~~~~~~
78.0 78.0

Field 1 Field 2
77.5 T T 775 T T 1
(mm) Pinnacle Xio Eclipse (mm) Pinnacle Xio Eclipse
2-13 Credl Effective Depth

Cred2;EETAER

48.0 50.0
47.5 49.5
p=0.04
470 | 4.0
—
A8.5 e SR .. 48.5 F .........
O O R R I
45.5 47.5
Field 1 Field 2
45.0 , . 1 470 T .
(mm) Pinnacle Xio Eclipse (mm) Pinnacle Xio Eclipse
2-14 Cred2 Effective Depth

31



Cred3; Hz5E

7 g S 05 30.0 e
p<0.01
36.5 29:5
36.0 29.0
* | ]
355 28.5
35.0 28.0
345 275
. Field 2
S0 Field 1 | | 270 ' , . .
(mm) Pinnacle Xio Eclipse (mm)  Pinnacle Xio Eclipse
2-15 Cred3 Effective Depth

Cred4: 3B

) SR 86.0
p<0.01
72.0 85.5
71.5 85.0
71.0 - 84.5
70.5 84.0
70.0 83.5 . s b
69.5 83.0
69.0 82.5
p=0.02 Field 1 Field 2
68.5 . . 1 820 T .
(mm) Pinnacle Xio Eclipse (mm) Pinnacle Xio Eclipse
2-16 Cred4 Effective Depth

32



Cred5:; fiili

88,0 ‘s 91.0
87.5 90.5
87.0 90.0 I
86.5 89.5 II . ---------
86.0 82.0 | l
85.5 ]| | . 88.5
85.0 1 88.0
84.5 87.5
Field 1 Field 2
84.0 T  87.0 T T !
(mm) Pinnacle Xio Eclipse (mm) Pinnacle Xio Eclipse
2-17 Credb Effective Depth
Credé; BiE
97.0 o 97.0
Field 1 Field 2
96.5 96.5 I
96.0 96.0
95.5 99:5
95.0 95.0
94.5 94.5
94.0 . + B 94.0
935 93.5 o
93.0 93.0
92.5 92.5
92.0 T 1 920 T T !
(mm) Pinnacle Xio Eclipse (mm) Pinnacle Xio Eclipse
2-18 Cred6 Effective Depth

33




Cred7; B

70.0 e (27 N [ TS
69.5 =5
69.0 97.0
48.5 96.5
6.0 " [ , 96.0
T I ——

67.5 95.5 G
67.0 95.0
66.5 94.5

T Field 2
66.0 Helct 1 T T . 94.0 T T !
(mm) Pinnacle Xio Eclipse (mm) Pinnacle Xio Eclipse

2-19 Cred7 Effective Depth

Cred8; L&

BT cpossoataoene OB RS RREE O SRRLER 63.0
p=0.01
37.5 62.5
37.0 62.0
L
36.5 61.5 F
Field 1 Field 2 p<0.01
36.0 2 : . 610 T T !
(mm)  Pinnacle Xio Eclipse (mm)  Pinnacle Xio Eclipse
2-20 Cred8 Effective Depth

34



